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» Vista Algebraica

~* Vista Grafica

urva paramétrica

% = 5i[t < 0.01, 35
y = Sift < 0.01, -21:
x = Sift < 0.01, 22
y = Sift < 0.01, —15¢
x = Sift < 0.03,1020

y = Sift < 0.03,3151
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A = (~4.32, 4.45)
Ay = (4.37,082)

A, = (18.04, 338}
Ay = (~7.36, 3.19)
Ay = (8.11, -7.81)
Ag = (~7.84, ~10.98)
Ag = {10.2, ~16.95)

B = (~4.63, 5.36)
By = (4.53, 2.44)

B, = (17.03, 2.04)
B, = {~7.88, ~Z.78)
B, = (8.89, ~7.36)
By = (~5.07, -12.19)
By = (1056, ~12.51)

C = (-6.54, 5.67)
€, = (459, L15)

Cy = (17.74,0.15)
€4 = (-6.72, ~2.08)
€, = (1042, ~5.05)
€5 = (~3.99,~11.78)
Cg = (1173, ~12.32)
D = (~6.89, 3.07)

Dy = (5.38, -0.08)
D, = (19.44, 0.39}
D, = (~5.89, ~3.1)
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